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Outlin

Consumption and saving rates

Savings of household, corporate and
government

Reasons for decreasing share of household
sector’s disposable income

= Reasons for decreasing share of labor
compensation

= Policies
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= There is no significant increase in household
sector's propensity to save.

= There also is no significant increase in the share
of hgﬁsehold sector's saving on GDP.

e decreasing share of household
consumption is mainly due to the decline in
disposable income of household.
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Reasons for decreasing
disposable income of household
sector

= The most important factor is the decline share of
labor compensation.

= Business retention and share of property income
for household sector has decreased.

= Redistribution process also reduces the share of
household sector income.



Reasons for changes in national
income distribution pattern
—analyses of real changes between 1996 and 2007
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Reasons for changes in national
income distribution pattern
—analyses of real changes between 1996 and
2007
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The remuneratio WhICh IS
calculated bas d on income/GDP
excluding produc t@-- ta_x
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= 1978-1984:a slight increase
= 1984-1994: fluctuations decreased slightly

= 1995-: sharp drop
= 1995-2007: 12.45 percentage point
= 1995-2004: 10.73 percentage point
= 2003-2004: Sudden drop 5.25 percentage point



Main results

2003 and 2004: Sharp fall in the share of labor income is

caused entirely by the change of accounting method.

1978-2004:The reform of industrial structure and the fall in
the share of labor income in industrial —based sectors took
effect togehther.

1995-2003:The main reasons of changes in labor income
are as follows:
= |ndustrial structure changed from agriculture to service industry
(explain 61%)
= The fall in the share of labor income in industrial-based sectors
= |ndustrial sector, restructuring state-owned economy
* |ndustrial sector, market monopoly increases

= In industrial sector, labor, wage changes in relative prices and
technological advances are not the main reasons for the changes
in labor income share.

= The substitution elasticity of elements of the industrial sector did [

not significantly deviate from 1.
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cts:Changes in 2003-2004

= From 2004,GDP accounting method with income
approach changed as follows:

= The income of non-agricultural sector workers totally
calculated as labor income ,but as capital income from
2004.The share of labor income in non-agricultural sector
declined sharply.

= State Statistics Bureau announced that the operating surplus
of all state-owned and collective farms were not be
calculated from 2004.This item was calculated as payment
of labor. The share of labor income in agricultural sector
sharply rose.

i) A Ak Tl gl =k
2003 0.5362  0.8607 0.4444  0.6810  0.4900

2004 0.4837 0.9222 0.3823 0.5975 0.4098




Facts:Changes

= Adjustment

= We estimated the income of the individul
economic owners and adjusted the data of GDP
accounting method with income approach in non-
agricultural sector in 2004 according to China
Economic Census Yearbook 2004;

= We estimated all operating surplus of state-owned
and collective farms and adjusted the data of GDP
accounting method with income approach in

agricultural sector in 2004.

n 2003-2004
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Reasons for changes in labor income
shares from 19935 to 2004
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Main results

The decreasing influences of labors and labor
force surplus can not mainly account for the
decline share of labor income.

After analyzing the provincial data, we got the
same results as before and we also found that:

= The share of labor income is higher in these areas
with a higher open degree;

= The share of labor income is lower in these areas
with a heavier tax burden.
International division formed during opening up
IS not an important reason for decline share of
labor income.



Solutions

Initial distribution:

As the substitution elasticity of capital and labor is 1, the
higher wages will lead to reducing employment, rather than
the higher share of labor income in the total output.

Vigorously developing the service industry is conducive to
Increasing labor income. Either the tax system or monopoly is
not conducive to development of service industries.

Eliminating monopoly.
Heavy taxes have a greater negative impact on labor income.
Opening up is good to increase the labor income.

To increase people's income and property : rising deposit
rate



Solutions

= Redistribution:

= Household: to reduce the social security contribution
rates
= the attribution of social security contributions

= the impact of income redistribution among the different age
groups brought by social security

= Corporate: to rise the dividends, especially for the
SOE'’s

= Government: to increase the input to social security

= Government: to reduce the construction investment



measures to improve income
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= We only took elements’ income distribution and
the distribution of disposable income among
residents, businesses and government into
account to discuss the influence of income
distribution and household consumption. And
there also exist some other perspectives.

= |ncome inequity between urban and rural: to increase the
relation of farmers’ income and urbanization, education
roblems for the farmers’ children and other welfare of
he farmers

= |[ncome inequity among regions: public service parity,
overall effect of corporate taxes and transfers

= |ncome inequity among households: monopoly,
corruption, weltare, personal income tax and heritage tax

@

(
(

ition

N—

Q.
-



iy \ Y N

ﬂ.@;’{kg \\&. >,

. \,

%3“'\$ \ N
i’r. "t 4" ‘f '5[ & f&- )‘v‘;,' Wy G

|

@ ——mml




	Distribution pattern of household consumption and income
	Outlines
	China's national savings rate since 1978 
	Conclusions on saving
	The average propensity to save 
	The average propensity to save 
	The proportion of different sectors’ saving rate on GDP
	The proportion of different sectors’ saving rate on GDP
	Reasons for decreasing disposable income of household sector
	Reasons for changes in national income distribution pattern �—analyses of real changes between 1996 and 2007
	Reasons for changes in national income distribution pattern �—analyses of real changes between 1996 and 2007
	Labor income share: different definitions 
	The remuneration which is calculated based on income/GDP excluding production tax
	Main results
	Facts:Changes in 2003-2004
	Facts:Changes in 2003-2004
	Changes in the overall labor share of income ：1995－2004
	Reasons for changes in labor income shares from 1995 to 2004
	Reasons for decreasing share of household income - property income
	Main results
	Solutions
	Solutions
	Other measures to improve income distribution 
	Thank you！

